
12

Use with products heavier than the rated weights indicated may result in instability causing possible injury.
Please closely follow the assembly instructions. Improper installation may result in damage or serious personal injury.
Safety gear and proper tools must be used. This product should only be installed by professionals.
Make sure that the supporting surface will safely support the combined weight of the equipment and all attached hardware and components.
Use the mounting screws provided and DO NOT OVER TIGHTEN mounting screws.
This product contains small items that could be a choking hazard if swallowed. Keep these items away from children. 
This product is intended for indoor use only. Using this product outdoors could lead to product failure and personal injury.

Ensure that you have received all parts according to the component checklist prior to installation. If any parts are missing or faulty, contact your place of 
purchase for a replacement.

Check that the product is secure and safe to use at regular intervals (at least every three months).

MANUEL DE MONTAGE

Support ascenseur motorisé pour écran TV 
LCD LED 32"-48"

018-6044 50kg
(110lbs)

RATED

200x200/300x300
400x200/400x400

48" 
MAX

 ATTENTION

Disposition : 
Le produit portant cette marque indique que ce produit ne doit pas être éliminé avec les autres déchets ménagers dans l’UE. 
Pour éviter tout risque d'atteinte à l'environnement ou à la santé humaine dû à l'élimination non réglementée des déchets, 
recyclez-le afin de promouvoir la réutilisation durable des ressources matérielles. Pour retourner votre appareil usagé, utilisez 
le service de recyclage local ou contactez votre point de vente pour retirer le produit.

·

 
·Les personnes dont les capacités physiques, sensorielles ou mentales sont réduites ou qui manquent d'expérience et de connaissances 

ne doivent pas utiliser l'appareil, à moins d'être sous surveillance, de comprendre les risques encourus ou d'avoir reçu une formation 
approfondie à l'utilisation de l'appareil par une personne responsable de la sécurité de ces personnes.

·Ne laissez pas les cordons ou la fiche non organisés afin d'éviter tout risque de chute.
·Toute tentative de reconstruction de la construction n'est pas autorisée.

Cet appareil peut être utilisé par des enfants âgés de 8 ans et plus s’ils ont reçu une surveillance ou des instructions concernant
l’utilisation de l’appareil de manière sûre et s’ils en comprennent les risques. Les enfants ne doivent pas jouer avec cet appareil. Le
nettoyage et la maintenance par l'utilisateur ne doivent pas être effectués par des enfants sans surveillance.. 

Le produit est alimenté par électricité. Afin d'éviter les brûlures, les incendies et les chocs électriques, de garantir une utilisation 
sûre et correcte du système et de maintenir la longévité de l'ensemble de la construction et des composants électroniques 
intégrés, veuillez lire attentivement les instructions.

Consignes de sécurité électrique

               

Appuyez sur le bouton        de la télécommande et vous entendrez des bips répétés pendant environ 10 
secondes, indiquant que la télécommande est en cours de programmation.
L'unité émettra un bip à nouveau indiquant le succès.
Remarque: effacez les données historiques lors du remplacement d'une nouvelle télécommande à coupler. 
Appuyez sur le petit bouton du boîtier de commande en émettant un bip et maintenez-le enfoncé pendant 5 
secondes pour confirmer que le processus de nettoyage des données est terminé jusqu'à ce que vous 
entendiez à nouveau un bip. 

Instructions de fonctionnement de la télécommande
A. Codage de la télécommande et du boîtier de commande

Lorsque la monture est allumée, appuyez sur le petit bouton du boîtier de commande avec un outil fin, 
comme indiqué. L'unité émettra un bip, indiquant que le boîtier de commande est en attente pour le codage 
du programme. 

B. Fonctions des boutons
1. Mouvement ascendant / descendant
Appuyez sur le bouton      et maintenez-le enfoncé pour soulever la monture. Appuyez sur le bouton 
et maintenez-le enfoncé pour abaisser la monture. (Conseils: Éliminez tous les obstacles dans 
l’amplitude des mouvements).

2. Réglage de la mémoire
Pressez longtemps         ou         pendant 3 secondes jusqu’au bip indiquant que les positions ont été 
mémorisées. Les boutons peuvent chacun enregistrer une position différente.

3. Utilisation des positions mémorisées  
Appuyez sur les boutons 1 ou 2 et le support prendra automatiquement la position mémorisée sur les 
boutons             ou           .

4. Paramètres par défaut
Appuyez sur le bouton      et le support se rétracte automatiquement à la position la plus basse.
Pour l'arrêter, appuyez sur      à nouveau.

5. Mode de réinitialisation
Appuyer 3 secondes sur        jusqu'au bip, la support va alors descendre. Ensuite, le support va monter 
légèrement pour atteindre la position la plus basse et s’arrêtera automatiquement. Le système se 
réinitialise avec succès lorsque l'appareil émet deux bips.

A noter : la télécommande est alimentée par deux piles AAA (non incluses).

· L'appareil ne doit être utilisé qu'avec le bloc d'alimentation fourni avec l'appareil. Les modifications du bloc d'alimentation donné ne sont 
pas autorisées.

Ne faites jamais fonctionner le système avec un cordon d'alimentation ou une fiche endommagé. Si des pièces sont endommagées, veuillez 
contacter votre agent d’assistance pour le remplacer.
Ne faites jamais fonctionner le système dans un environnement humide ou si ses composants électriques sont en contact avec des liquides.
Ne nettoyez pas le produit tant que l'alimentation est toujours connectée.
Ne démontez ni ne remplacez les composants tant que l'alimentation est toujours connectée.
Débranchez l'appareil lorsque le système n'est pas utilisé et placez la fiche du cordon d'alimentation hors de portée des enfants.

Guide de dépannage

Devant

Ce guide de dépannage vous aidera à identifier et à résoudre les problèmes courants et à répondre aux questions que vous pourriez 
avoir sur le produit. Contactez votre revendeur si la réponse à votre question ou à votre problème ne figure pas dans ce guide et / ou 
pour tout service après-vente. 

1.Les raisons possibles pour que le support ne réponde pas à la télécommande

A. Support TV
Le système peut être une erreur. Vérifiez si l’appareil sonne trois fois après avoir appuyé sur le bouton. Si oui, veuillez réinitialiser le 
système.
Le système peut surchauffer. Vérifiez si l’appareil sonne quatre fois après avoir appuyé sur le bouton. Si tel est le cas, laissez l’appareil 
refroidir et revenez à la température ambiante. (environ 30 minutes)
L’extrémité CA / CC du cordon d’alimentation est peut-être débranchée de la prise / du support. Vérifiez la connexion pour vous 
assurer que l'unité est alimentée.
Opération incorrecte. Vérifiez si l’appareil sonne une fois après avoir appuyé sur le bouton. Si tel est le cas, veuillez suivre les 
instructions fournies dans le manuel pour utiliser correctement le support.

B. Télécommande

La distance de fonctionnement de la télécommande peut être trop éloignée et ne pas être à la portée du support. La portée 
acceptable doit être inférieure à 10 mètres (30 pieds). Les piles de la télécommande peuvent être faibles ou épuisées. Remplacez les piles.
La télécommande peut être cassée. Vérifiez si le voyant situé sur la télécommande s’allume lorsqu’un bouton est enfoncé. Sinon, 
contactez votre revendeur pour un remplacement.

Le support de télévision cesse de bouger pendant le fonctionnement et émet un long bip
Vérifiez si un objet étranger empêche le support de bouger. Si c'est le cas, retirez l'objet et jetez-le.
Le poids du téléviseur peut dépasser la limite de poids maximale du système de montage.
Le fil du moteur peut être cassé. Réinitialiser le système. Si le problème persiste, contactez votre revendeur pour le remplacer.

3. Le support TV fait un bruit ou un son anormal

Vérifiez toutes les connexions d'alimentation et réinitialisez le système. Si l'appareil continue à faire un bruit anormal, veuillez contacter 
votre revendeur pour un remplacement.



11

2

1

Note: Fixez le téléviseur 
avec la colonne ajustée 
sur la position la plus 
basse.

F

A

B

1

G

A

s

2

6

L
DO

1

43

5

2
L

O

L

C

O

Note: 
Pour éviter les collisions et les coups 
de fil, gardez le boîtier de commande 
et tous les câbles à l’écart de 
l’ascenseur du téléviseur.

1

2

H

I

3

R

Note: Faites correspondre la télécommande 
avec la boîte de contrôle pour la première 
utilisation.

Q

M

P
N

1

2

≥50mm

≥50mm ≥50mm

≥
1

0
m

m

WARNING!

Préparez le meuble avant l'installation.

J

10

TV TV

M-G M-H

ø 3mm
(ø 1/8") 

15mm

0.6”( )

15mm

(0.6”)
9

ø 3mm
(ø 1/8") 

15mm

0.6”( )

15mm

(0.6”)
7

8

J

K

A (x1)

H (x1)B (x1) G (x1)D (x1)

J (x16) 

C (x2)

K (x2) 
M6x12 (x12)

LI (x1) N (x4)
4mm 

O
(x1)

S (x1)
M10x20 (x4)

M

M8x50 
M-E

(x4)

M-F (x4) M-G (x8) M-H (x8) 

M8x30 
M-D

(x4)

M6x30 
M-C

(x4)M6x14 
M-B

(x4)M5x14 
M-A

(x4)

F (x2)E (x1)

Q (x1) R (x1)
6mm 

P
(x1)

J

J

1

2

M-F

M-C
M-D

M-F

M-E

M-F

M-A

M-F

M-B



12

INSTALLATION MANUAL

Use with products heavier than the rated weights indicated may result in instability causing possible injury.
Please closely follow the assembly instructions. Improper installation may result in damage or serious personal injury.
Safety gear and proper tools must be used. This product should only be installed by professionals.
Make sure that the supporting surface will safely support the combined weight of the equipment and all attached hardware and components.
Use the mounting screws provided and DO NOT OVER TIGHTEN mounting screws.
This product contains small items that could be a choking hazard if swallowed. Keep these items away from children. 
This product is intended for indoor use only. Using this product outdoors could lead to product failure and personal injury.

Ensure that you have received all parts according to the component checklist prior to installation. If any parts are missing or faulty, contact your place of 
purchase for a replacement.

Check that the product is secure and safe to use at regular intervals (at least every three months).

INSTALLATION MANUAL

Motorized lift mount for 32"-48" LCD 
LED TV screen

018-6044 50kg
(110lbs)

RATED

200x200/300x300
400x200/400x400

48" 
MAX

 Warnings

Disposal: 
The product with this mark indicates that this product shouldn't be disposed with other household wastes throughout 
the EU. To prevent possible harm to the environment or human health from uncontrolled waste disposal, recycle it 
responsibly to promote the sustainable reuse of material resources. To return your used device, please use the local 
recycle service or contact your point of purchase to withdraw the product.

·

    the appliance in a safe way and understand the hazards involved. Children shall not play with the appliance. Cleaning and user 

    maintenance shall not be made by children without supervision. 

·Persons with reduced physical, sensory or mental capabilities or lack of experience and knowledge must not use the appliance, unless 

    they're under supervision, understand the hazards involved or they have been thoroughly instructed in the use of the apparatus by a person 

    who is responsible for the safety of these persons. 

·Don't leave the cords or plug unorganized in order to prevent tripping hazards.

·Any attempts to reconstruct the construction aren't allowed.

This appliance can be used by children aged from 8 years and above if they have been given supervision or instruction concerning use of 

The product is powered by electricity. In order to avoid burns, fire and electric shock and make sure the safe and correct use 
of the system and maintain the longevity of the overall construction and the built-in electronics, please read the instructions 
carefully.

Electrical Safety Instructions

STEP1: When the mount is powered on, press the small button on the control box with a thin tool 
               as shown. The unit will emit a beep, indicating that the control box is on standby for 
               program coding.

STEP2: Press the “      ”button on the remote control, and you will hear repeated beeps for 
approximate10 seconds indicating that the remote control is being programmed. 
The unit will emit a beep again indicating success.

    Note: Clear up the historical data when replacing a new remote control to pair. Press the small 
button on the control box with hearing a beep, and hold for 5 seconds to confirm the 
data-cleaning process is completed until you hear a beep again.

Remote Control Operation Instructions

A. Coding of Remote Control and Control Box

B. Button Functions

1.Upward/Downward Movement
Press and hold the "     " button to lift the mount. Press and hold the "     " button to lower the mount. 
(Tips: Clear up all obstacles within the range of motion.)

2.Memory Setting

Long press the “          ” or “         ” button for 3 seconds until you hear a beep, indicating that the 

current position has been saved to memory. The “         ” “         ” buttons can each store a 
different position.

3.Recall Memory
Press the “        ” or “        ” button and the mount will automatically get to the position saved in the 
corresponding button “       ” or “         ”.

4.Default Setting
Short press the “      ” button and the mount will automatically retract to the lowest position. 
To stop it, press the “     ” button again.

5.Reset Mode
Long press the “      ” button for 3 seconds until you hear a beep, and the mount starts to move 
downwards. Then the mount will move upwards a little bit when reaching the lowest position and 
automatically come to a stop. The system resets successfully when the unit emits two beeps.

Note: The remote control is powered by two AAA batteries (not included).

·The appliance is only to be used with the power supply unit provided with the appliance. Alterations of the given power unit aren't allowed.

·Never operate the system with a damaged power supply cord or plug. If any parts is damaged, please contact your service agent of 

purchase for a replacement.

·Never operate the system if it's in moist environment or its electrical components has contact with liquids.

·Don't clean the product while the power is still connected.

·Don't disassemble or replace components while the power is still connected.

·Unplug the appliance when the system isn't in use, and place the power plug out of children reach.

Troubleshooting Guide

In Front

This Troubleshooting Guide will assist you in identifying and solving common problems and answering questions you may have 

about the product. Contact your place of purchase should the answer to your question or problem not be found in this 

Troubleshooting Guide and/or for any after service parts and sales support.  

1.Possible reasons motorized mount does not respond to remote control. 

A.TV Mount

·

·The system may be overheating. Check if the unit beeps four times after pressing the button. If so, allow the unit to cool down and return 

    to room temperature. (about 30 minutes)

·The AC/DC end of the power cord may be unplugged/disconnect from the outlet/mount. Check the connection to ensure the unit 

    has power.  

·Incorrect operation. Check if the unit beeps once after pressing the button. If so, please follow the instructions found in the manual to 

properly operate the mount.

The system may be error. Check if the unit beeps three times after pressing the button. If so, please reset the system. 

B.Remote Control

·

·The batteries in the remote control may be low or dead. Replace the batteries.

·The remote control may be broken. Check to see if the indicator LED found on the remote lights when a button is pressed. 

If not, contact your place of purchase for a replacement.

The remote control operating distance may be too far and not in range of the mount.  Acceptable range should be less than 30 feet (10m).

2.The TV mount stops moving during operation and emits a long beep.

·

·The weight of TV may exceed the maximum weight limitation of the mounting system. 
·The motor wire may be broken. Reset the system. If the problem still exists, contact your place of purchase for replacement.

Check to see if a foreign object is impeding the mount from moving. If so, remove the object and discard.

3.The TV mount is making an abnormal noise or sound.

·

    contact your place of purchase for a replacement.

Check all power connections and reset the system. If the unit continues to make an abnormal noise, please 



11

2

1

Note: Attach TV with the 
column adjusted to the 
lowest position.

F

A

B

1

G

A

s

2

6

L
DO

1

43

5

2
L

O

L

C

O

Note: 
In order to avoid collision and 
wire pulls, keep the control box 
and all cables away from the TV lift.

1

2

H

I

3

R

Note: Match the remote control with the control 
box for the first use.

Q

M

P
N

1

2

≥50mm

≥50mm ≥50mm

≥
1

0
m

m

WARNING!

Please prepare a proper cabinet before installation.

J

10

TV TV

M-G M-H

ø 3mm
(ø 1/8") 

15mm

0.6”( )

15mm

(0.6”)
9

ø 3mm
(ø 1/8") 

15mm

0.6”( )

15mm

(0.6”)
7

8

J

K

A (x1)

H (x1)B (x1) G (x1)D (x1)

J (x16) 

C (x2)

K (x2) 
M6x12 (x12)

LI (x1) N (x4)
4mm 

O
(x1)

S (x1)
M10x20 (x4)

M

M8x50 
M-E

(x4)

M-F (x4) M-G (x8) M-H (x8) 

M8x30 
M-D

(x4)

M6x30 
M-C

(x4)M6x14 
M-B

(x4)M5x14 
M-A

(x4)

F (x2)E (x1)

Q (x1) R (x1)
6mm 

P
(x1)

J

J

1

2

M-F

M-C
M-D

M-F

M-E

M-F

M-A

M-F

M-B


	018-6044 - MANUEL WEB FR
	LP66-44M manual-multi



